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Proposed by Dorin Andrica, Babes-Bolyai University, Cluj Napoca, Romdnia

Solution by Arkady Alt, San Jose, California, USA
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Also solved by Daniel Lasaosa, Pamplona, Spain; Albert Stadler, Herrliberg, Switzerland; Paolo Perfetti,
Universita degli studi di Tor Vergata Roma, Roma, Italy; Moubinool Omarjee, Lycée Henri IV, Paris, France;
Joshua Siktar, Carnegie Mellon University, USA; Jorge Ledesma, Faculty of Sciences UNAM, Mezico City;
Hyun Min Victoria Woo, Northfield Mount Hermon School, Mount Hermon, MA; Angel Plaza, University of
Las Palmas de Gran Canaria, Spain; Li Zhou, Polk State College, USA; Zafar Ahmed, BARC, India; AN-
anduud Problem Solving Group, Ulaanbaatar, Mongolia; Kwonil Ko, Cushing Academy, Ashburham, MA,
USA; Ji Fun Kim, Tabor Academy, MA, USA; Hyun Jin Kim, Stuyvesant High School, New York, NY,
USA; Brian Bradie, Christopher Newport University, Newport News, VA, USA.
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